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Regional 2003-R

Group 1

Indicate whether each of the following is debited or credited during the closing process or whether the account or item is not closed.  Write the correct answer on your answer sheet using the following code:  DR=debit  CR=credit  NC=not an item to be closed

1. Depreciation Expense


  

2. Allowance for Uncollectible Accounts
  

3. Accumulated Depreciation—Building

4. Income Summary (net loss)

Group 2

Use the following information to answer questions 5 through 8.  Write the identifying letter of the best response on your answer sheet.

Ivy Company began operations on Jan 3, 2002 when Mavis Ivy invested $15,000 cash in the business.  The fiscal year end is December 31.

During 2002, the company had service revenue of $52,820; of this amount, $44,210 was collected during 2002 and $8,610 was an outstanding receivable at year-end.

Ivy incurred $39,630 of expenses during 2002; of this amount, $4,550 was unpaid as of December 31, 2002.

Mavis Ivy withdrew $20,000 of cash from the business on December 18, 2002.

5.  The company’s cash balance on 12-31-02 was:


A. $420

B. $4,130

C. $8,190

D. cannot be determined

6. The company’s total liabilities on 12-31-02 were:


A. $4,550
B. $8,610

C. $19,550

D. $35,080

7. The net income for 2002 was:


A. $6,810
B. $9,130

C. $13,190

D. $28,190

8. The balance in the capital account after closing entries for 2002 is a credit of:


A. $4,130
B. $8,190

C. $15,000

D. $28,190

Group 3

One of the items sold at The Electronic Place is a digital clock.  The following shows the beginning inventory and purchases information for the year.  During the year 620 clocks were sold for $5 each and 640 clocks were sold for $10 each.  The company uses a periodic inventory system.  The market value of the digital clock as of 12-31-02 is $4.25 each.   (Round computations to the nearest cent.)

	
	
	Number of

Units
	Cost per Unit
	

	1-1-02
	Beginning Inventory
	200
	2.00
	

	Jan
	Purchase
	220
	2.00
	

	Mar
	Purchase
	240
	2.00
	

	Apr
	Purchase
	260
	3.00
	

	Jun
	Purchase
	        140
	4.00
	

	Jul
	Purchase
	 160
	5.00
	

	Aug
	Purchase
	160
	5.00
	

	Oct
	Purchase
	120
	6.00
	

	
	
	
	
	


For questions 9 through 16, write the correct amount on your answer sheet.  (Note Questions #13, #14, and #15 each have one asterisk.)

	FIFO
	
	Units
	
	Amount

	Available for Sale
	
	
	#10
	

	Ending Inventory
	#9
	
	#11
	

	Cost of Merchandise Sold
	
	
	#12
	

	Gross Profit
	
	
	*#13
	

	
	
	
	
	

	LIFO
	
	Units
	
	Amount

	Available for Sale
	
	
	
	

	Ending Inventory
	
	
	
	

	Cost of Merchandise Sold
	
	
	
	

	Gross Profit
	
	
	*#14
	

	
	
	
	
	

	Weighted Average Cost
	
	Units
	
	Amount

	Available for Sale
	
	
	
	

	Ending Inventory
	
	
	
	

	Cost of Merchandise Sold
	
	
	
	

	Gross Profit
	
	
	*#15
	


** 16.  Assume that The Electronic Place chooses to value its 12-31-02 ending inventory 


at the lower of FIFO cost or market method.  What amount would be reported on 


their 12-31-02 Balance Sheet for Merchandise Inventory?

Group 4

Use the following information (arranged in alphabetical order) to answer questions 17 through 22.  Write the correct amount on your answer sheet.

	Beginning inventory
	                ?

	Cost of delivered merchandise
	97,950

	Cost of merchandise available for sale
	120,950

	Ending inventory
	              ?

	Gross profit
	47,250

	Net purchases
	92,550

	Net sales
	143,180

	Purchases
	               ?

	Purchases discounts
	               ?

	Purchases returns and allowances
	3,500

	Sales
	150,800

	Sales discounts
	                ?

	Sales returns and allowances
	4,520

	Transportation in
	1,570


17. What is the amount of beginning inventory?

18. What is the amount of ending inventory?

19. What is the amount of purchases?

20. What is the amount of purchases discounts?

21. What is the amount of sales discounts?

22. What is the amount of cost of merchandise sold?

Group 5

An accountant for The Greenberg Company was reviewing the work sheet completed by the company’s bookkeeper.  All information was correct and properly totaled except that some of the column subtotals and totals had been erased.  The known subtotals on the work sheet before the net income (or loss) was calculated were as follows:

	Income Statement Debit
	$157,620

	Income Statement Credit
	$184,960

	Balance Sheet Debit
	$  80,740


Answer questions 23 through 26 by writing the correct amount on your answer sheet.  A net loss must be indicated by brackets or parentheses.

23. What is the balance sheet credit column subtotal before net income or loss is 


calculated?

24. What is the balance sheet debit column total after net income or loss is calculated?

25. What is the income statement debit column total after net income or loss is 


calculated?

26. What is the amount of net income or net loss?
Group 6

Analyze each of the following independent transactions into debit and credit parts.  Using the account titles chart below, mark the identifying letter of the correct answer for items 27 through 34 on your answer sheet.

A. Accounts Receivable

B. Allowance for Uncollectible Accounts

C. Cash

D. Sales

E. Sales Returns & Allowances

F. Uncollectible Accounts Expense (Bad Debts Expense)

	
	DEBIT
	CREDIT

	The entry to reinstate an account that had been previously written-off using the direct write-off method for uncollectible accounts
	#27
	#28

	A company uses the direct write-off method for uncollectible accounts.  In 2002, the company wrote-off the Jacobs account as uncollectible.  In January 2003, the company received the Jacobs payment and reinstated the Jacobs account.  What is the entry to record the cash receipt in January 2003?
	#29
	#30

	A company uses the direct write-off method and chooses to write-off a past due account
	#31
	#32

	The entry to reinstate a collected account after it had been previously written-off when the company uses an allowance method of accounting for uncollectible accounts
	#33
	#34


Group 7

For questions 35 through 37, write the correct amount on your answer sheet.

35. Your company purchased merchandise on account on January 7, 2003 for $12,710


with terms 2/10, n/30 FOB shipping point.  The freight cost was $825.  On Jan. 10


you returned $1,945 of this shipment that was the wrong color.  On Jan. 16 you 


paid the supplier for the merchandise you kept.  What was the amount of your 


check?

36. An individual started a new business on May 1, 2000.  At that time the individual 


invested $100,000 in the business.  In 2000 revenues were $43,870, expenses 


were $57,980, and there were no owner withdrawals.  In 2001 the owner invested 


$30,000 and made no withdrawals.  Total revenues for 2001 were $150,860 and 


expenses were $120,790.  In 2002 the owner made no investments.  Total 


revenues for 2002 were $243,800 and expenses were $204,860.  The ending 


capital account balance on December 31, 2002 after closing entries were posted 


was $104,900.  How much did the owner withdraw from the business in 2002?

Group 7 continued

37. The supplies balance on January 1 was $4,980.  During the year supplies were 


purchased as follows:  $270, $1,410, $3,650, and $910.  A physical inventory taken 


on December 31 totaled $6,790.  What is the amount of the adjustment to the 


supplies account on the work sheet?

Group 8

For questions 38 through 46, use the following information.  If the answer to the question is yes, write “yes” on your answer sheet; if it is no, write “no”.

Rhodes Company purchased equipment on 1-4-00 for $15,500 when the salvage value was $2,000.  Rhodes depreciated the equipment using the straight-line method with an estimated useful life of 5 years.  On 3-31-03 Rhodes sold the equipment for $8,000.

38. On the date of sale, is the book value of the equipment equal to the estimated 

salvage value? 

39. Is the gain on the sale of the asset the difference between the sales price of $8,000 

and the estimated salvage value of $2,000?

40. At the time of sale, will the gain (or loss) be recorded in the journal as a credit (or 


debit) to Income Summary?

41. Is the account called Gain on Plant Assets closed with a debit?

42. Will the entry to record the sale of the equipment include a debit to Accumulated


Depreciation for $8,100?

43. Is the account called Gain on Plant Asset used if an asset is sold for its book value?

44. If instead of receiving $8,000, the company had received $6,000, would the sale


have resulted in a loss of $2,000?

45. When a plant asset is sold for its book value, will the entry to record the sale include


a debit to the asset account and a credit to the accumulated depreciation account?

46. Is the gain from the sale of a plant asset an operating revenue?

Group 9

For questions 47 through 57, write the identifying letter of the best response on your answer sheet.

47. Which of the following statements is false regarding the lower-of-cost-or-market 

basis for inventory valuation as a conservative approach?

A. Losses, or decreases, in inventory value are recognized when they occur.

B. Increases in market value are always recorded.

C. Inventory values reported on the balance sheet are never greater, but may be 

     less, than the actual cost of the inventory.

D. All of the above are false.

48.  How often should a physical count of inventory be taken to determine errors or theft 

when a perpetual inventory system is used?

A. A physical count is not required with a perpetual system.

B. A count should be taken every five years.

C. A count should be taken at least once each year.

Group 9 continued

49. Which inventory system provides constant inventory data?


A. Periodic

B. Perpetual
C. Intermittent

D. Sporadic

50. Which of the following statements is true?


A. Depreciation is an accounting term used to describe the allocation of cost.


B. Depreciation does not change the actual market value of the asset.


C. Some assets, like real property, appreciate in value while being depreciated.


D. All of the above are true.

51. Which of the following is not an acceptable term for plant assets?


A. fixed assets

B. short-term assets

C. long-term assets

52. All property not classified as real property is called __________ property.


A. private
B. classified

C. personal

D. bona fide

53. The value of an asset determined by tax authorities for the purpose of calculating 

property taxes is called the ___________ value.

A. judgment

B. book

C. net realizable
D. assessed

54. The following information is found on a correctly completed work sheet for the year 


ended 12-31-02 and in the general ledger for Prepaid Insurance.  (All premiums are 


debited to Prepaid Insurance when policies are purchased.)



Insurance Expense, work sheet Income Statement Debit column $6,060



Prepaid Insurance balance on 1-1-02   $1,200



Insurance premiums paid during 2002   $6,400


What is the amount of Prepaid Insurance written on the work sheet in the balance

       sheet column?


A. $1,200

B. $1,540

C. $6,060

D. $6,400

E. $7,600

55. An overstatement of ending inventory in one period results in


A. no effect on net income of the next period


B. an overstatement of net income of the next period


C. an understatement of net income of the next period


D. an overstatement of the ending inventory of the next period

 * 56. Snowflake Co. was destroyed completely by fire on May 31, 2002.  The following


information for 2002 was the only record that could be salvaged:

	Inventory, January 1, 2002
	$
28,000
	
	Sales
	$55,000

	Purchases
	16,000
	
	Sales Returns
	700

	Transportation-In
	1,000
	
	
	



Snowflake Co.’s average gross profit percentage was 35%.  What was the 


estimated value of the May 31, 2002 inventory that was lost?


A. $9,705          B. $25,995          C. $29,250          D. $44,000          E. $45,000

Group 9 continued

57. The following information is found on a correctly completed work sheet for the year 


ended December 31, 2002 on the line for Office Supplies on Hand:

	Adjustments credit
	$3,822

	Balance Sheet debit
	$   815



If the January 1, 2002 balance of Office Supplies on Hand was $795, what is the 


amount of supplies purchased during 2002?


A. $795

B. $815

C. $3,822

D. $3,842

E. $4,637

Group 10

Dixie, Trixie, and Pixie have decided to form a partnership.  The partners plan to invest the following assets in the business:

	
	Dixie
	Trixie
	Pixie

	Cash
	17,000
	280,000
	

	Supplies
	  8,000
	
	

	Equipment
	85,000
	
	

	Building
	
	
	150,000

	Land
	
	
	  60,000


For questions 58 through 60, write the correct amount on your answer sheet.

58. If the net income of the partnership is $54,000 and the partnership agreement

      does not state how net income is to be divided, what amount of net income

      should be allocated to Trixie?

  *59. If the partners Dixie, Trixie, and Pixie share net income based on the amount of 



time they spend working in the business, which is expressed as 4:2:2 respectively, 



and the net income is $152,000, what amount of net income should be allocated to 



Dixie?

60. If the partners share net income in the same ratio as the beginning balances of

      their capital accounts, and net income is $110,000, what amount of net income

      should be allocated to Pixie?

Group 11

Refer to the data in Table 1 on page 11.  You may remove the table pages from the staple for convenience.  For questions 61 through 68, write the identifying letter of the best response on your answer sheet.

61. On December 30, 2002 before any bad debts were written off for 2002, Adobe Co.’s 


book value of Accounts Receivable was:


A. $83,395

B. $85,850

C. $89,185

D. $91,285

E. $94,620

Group 11 continued

62. For Acme Co. which of the following is correct about the entry to write-off the bad 

debts on December 30, 2002?

A. Bad Debts Expense was debited $4,793.

B. Allowance for Uncollectible Accounts was credited $3,335.

C. Accounts Receivable was credited for $3,335.

D. Allowance for Uncollectible Accounts was debited $4,793.

63. After the bad debts were written off for 2002 and before the adjusting entry to record 

bad debts expense, Acme Co.’s book value of Accounts Receivable was:

A. $78,602

B. $83,395

C. $83,417

D. $88,188

E. $93,003

64. The following accounts are found on which financial statements:



Allowance for Uncollectible Accounts


Bad Debts Expense

A. 


Balance Sheet





Cost of Merchandise Sold


B. 


Balance Sheet




    

Income Statement


C. 

    Income Statement



        
   Balance Sheet


D. 

    Income Statement




Statement of Owner’s Equity

65. The estimated bad debts expense for the year ended 12-31-02 for Adobe Co. is:


A. $2,190

B. $6,078

C. $7,068

D. $10,853

* 66. After the adjusting entry for bad debts expense for 2002 is posted, what is the 

balance of Allowance for Uncollectible Accounts for Adobe Co.?

A. $4,290

B. $6,200

C. $8,178

D. $11,513

* 67. The estimated bad debts expense for the year ended 12-31-02 for Acme Co. is:


A. $1,145

B. $1,385

C. $2,190

D. $6,178

E. $6,200

68.  Consider an Income Statement (not Adobe Co.’s or Acme Co.’s) that showed Bad 

Debts Expense of $2,850 and that the general ledger did not contain a contra 

account to Accounts Receivable.  Which method was used to determine the 

expense? 

A. Direct Write-Off Method

B. Allowance Method—Percentage of Sales

C. Allowance Method—Aging of Accounts Receivable

D. Hybrid Estimation Method

Group 12

Refer to the data in Table 2 on page 12.  The two plant assets are owned by the Total Fitness Center whose fiscal year ends December 31.  These are the only assets in the equipment account.  For questions 69 through 74, write the identifying letter of the best response on your answer sheet.  Round to the nearest cent.

69. The depreciation expense recorded in 2000 represents how many months?

            Computer System    Fitness Equipment
 
A.


12




  5


B.


  5




12


C. 


  7




12


D. 


  5




  5


E. 


  7




11

70. The book value of the fitness equipment on January 5, 2000 is

A. zero

B. $5,300

C. $75,000

D. $112,500

E. $125,000

 * 71. The fitness equipment will have an entry for depreciation expense in years 2000

 through

A. 2003

B. 2004

C. 2005

D. some year after 2005

72. In 2000 the equipment account increased as follows

           Computer System
  Fitness Equipment

A. 

$   500



$  12,500


B. 

$4,800



$112,500


C.

$5,300



$125,000


D.

$4,800



$125,000

*73. The computer system will have an entry for depreciation expense in the final year as 

        follows:

Amount
Year

A.
$  
 560
2004


B. 
$     960
2004


C. 
$     400
2005


D.
$     960
2005

 ** 74. After the adjusting and closing entries are posted to the general ledger for the year

     ended in 2003, Accumulated Depreciation—Equipment will have a balance of:

A. $11,760

B. $18,060

C. $108,800

D. $112,240

Group 12 continued

Continue to refer to the data in Table 2 on page 12.  For questions 75 through 80, write the correct amount on your answer sheet.  Round to the nearest cent.  A loss must be indicated by brackets or parentheses.

75.  What is the amount that will be credited to Accumulated Depreciation—Equipment

 just for the fitness equipment in 2004?

*76.  What is the book value of the computer system at the end of year 2004?

*77.  What is the amount of depreciation expense recorded just for the fitness equipment 

 in 2002?

 *78. What is the book value of the fitness equipment at the end of year 2004?

***79. If the straight-line method had been used for the fitness equipment, by what amount


would the book value at the end of year 2002 have exceeded the book value using


double declining balance?

*80. If the Total Fitness Center sells the computer system on 12-31-04 for $1,000, what

 is the amount of the gain or loss?

This is the end of the exam.  Please hold your answer sheet and test questions until the contest director calls for them.  Thank you.

Table 1

(for questions 61 through 68)
At the end of the fiscal year 12-31-02 before any bad debts are written off or before any adjusting entries are recorded, the following information is available for two separate companies called Adobe Co. and Acme Co.

	Adobe Co.
	
	Acme Co.

	$  94,620   
	Accounts Receivable
	$  88,210

	      5,435 cr
	Allowance for Uncollectible Accounts
	      4,815 cr

	  542,650
	Gross Sales (includes charge sales)
	  784,240

	  303,900
	Charge Sales
	  353,400

	
	
	


Each company uses an allowance method to estimate uncollectible accounts.  Adobe Co. uses the Percentage of Charge Sales method (historically Adobe has used 2%) while Acme Co. uses the Aging of Accounts Receivable method.

Prior to making the adjusting entry to record bad debts expense, the two companies wrote off the following accounts on December 30, 2002:

	Adobe Co.
	
	
	Acme Co.
	

	Clayton Manufacturing
	$  650
	
	Peterson Electronics
	$2,820

	Johnson Steel Co.
	    875
	
	Lackland Machine Shop
	     240

	Bridgestone Alliance
	 1,810
	
	Johansen Masonry
	  1,415

	
	
	
	Beatty Company
	     318


On 12-31-02, each company prepared an Aging of Accounts Receivable as follows:

	Adobe Co.
	$4,290
	
	Acme Co.
	$6,200


Table 2

(for questions 69 through 80)
PLANT ASSET RECORD

ITEM______Computer System______________  DISPOSAL VALUE____$500____

GENERAL LEDGER ACCOUNT ________Equipment________________________

DEPRECIATION METHOD_______Straight-Line_______  ESTIMATED LIFE 5 yrs_



   ASSET
 ACCUMULATED DEPRECIATION


   BOOK

  DATE
    COST
  DEBIT      CREDIT      BALANCE


  VALUE
5-30-00    $5,300











________

_______


_______   _______    _________


________

_______


_______   _______    _________


________

_______


_______   _______    _________


________

_______


_______   _______    _________


________

_______


_______   _______    _________


________

_______


_______   _______    _________


________

_______


_______   _______    _________


________

PLANT ASSET RECORD

ITEM_______Fitness Equipment_____________  DISPOSAL VALUE__$12,500____

GENERAL LEDGER ACCOUNT ________Equipment_________________________

DEPRECIATION METHOD__Double Declining Balance__  ESTIMATED LIFE_5 yrs_



   ASSET
ACCUMULATED DEPRECIATION
 
         BOOK

  DATE
    COST
   DEBIT      CREDIT      BALANCE


  VALUE
_1-5-00  $125,000






 




________

_______


_______   _______    _________


________

_______


_______   _______    _________


________

_______


_______   _______    _________


________

_______


_______   _______    _________


________

_______


_______   _______    _________


________

_______


_______   _______    _________


________

